INDT — T L —A ERERERLDILA (4—5— 1)

NDO—=T L—LOEGFER

7500

7200

[ —

—_

1800 i 18h0 L 1800 L 1800 L 1200

|

>

1800

L

1800

900 |

=

=

00 /600

1800

1800
7500

1800

1800

1800

1800
7200

1800

19

| a0
L

i P3G
EX PG
EXH PIBG
|EE PI20G
LLEER POSG
AEH 586G
AFH 518G
KR =2, HX1818G
fRETL—2 LTH08G
Rl L—2 LIBIAG
=] T HF 180
FRE HED2080
[EFERFR—FL _ |nsoazon
Aok BEEG
Eid 150 1800
2400 1800
EaEid ] 500 % 100
Ex LS014G
B EEEa SBKIS0
ECE
B 24
SPEFF —H—F
L =3 [EE
S P DHIS45
FiL=KE] DAZL2000
FILEXE] DAIL2S0
FiLZAEI CAILID00
ZE@EER oKk
IR R [N
HR—F5SL T 0K
S-S T BE [oF
FILEFME(NA] |2000mm
L P e~
‘.‘:"EPTJEE
5527 BE
=H
kU oES IR 177k m




WERZAR T OIS FHEE

7500

®

7200

©

250w mﬁm‘m 914 610, 914 610, 914 614, 914 Wﬂs 9

L 715

% 98_914 610, 914 610, 914 614 91473_3.9 457_Fﬂr

4270

5700

=3656

7@610;

4@914:

1. 855 | 715

J_BSS J_715_\_

5490

7200

9@610

5484

6@914:

855 |

L 1005 ‘\, 9@610=5490

9@610=5490

7200

20

AG11T)

J_610_\_719
e

-

.

-

-

14

AS0ETA 5400 1360] T4

AE5A 00 057, 5id

AD12 516 290 14496

EYE 160 260 1716

AITCON4) 516 Q.20 454

AZBLRI0] &0 060 Hl

1914 = 500 258 B90|  2HE

610 2 500 330 Ta0| 2376

814 x 240 240 550/ 1320

{610 = 240 228 4. 50/ 1028

2000mmn 532 5 00 2610

ATE2 450 170] 1565

SI5ZH 450 510 2295

s Do 1000mm 45 BOD) F60
e D 1 500mm 76 12.00 e
AR D 2000mm 18] 1800 258
gl D 2500mm 32| 2000 B0
rigm g 3000mm 16] 2400 a4
Tk = [Es 232 325 T54
WE AT E~ 1565 7 A2TF
[ e 300 Q.70 0
AT =k 610~ 500 242 To0] 1594
i THR— 1250 == 2000 194 10.00 1540
257 W8T 500 070 350
it | 35694

FPUEAUNESER 2458






